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DRFTVLERFEICHMNIBEESE2E 2 TwoTs,

2) Ly R OERE

T, W OpDOBEENCOWTHATE FEDD
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(Interaction) “Now, please put weather marks
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in the box. You can put any mark in any place.”
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[(RNEfET]
When it’s rainy, we can’t see the sun.” (Redun-
dancy) &\l s KEBEOKRE2RT,“0.K. How
about tomorrow? (# v ¥ ¥ —% B ¥ (Model), X
DOHOKZHEE$) Will it be sunny? Or rainy?”

“That’s right. It’s rainy today.
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rainy, rainy ... ” (Redundancy) E N~¥—7 %

72 EABE> Tw < (Example), “Do you have

umbrella today?”

“It’s rainy everyday isn’t it? Rainy,

[Yes]. “This is rainy season
in Japan. How about in another country? Let’s
go down to the south.” EEWnZEBohborL®
BRI > Th H A EIE T TR ZE>Tw
{o “Look at the weather in Guam.” 77 A ®D
HERRA T e RE 5 (Model), “It’s rainy every-

day. Monday, Tuesday, Wednesday. Rainy,

rainy, rainy...... (Redundancy) Is it the same as

[Yes]
to the south. Sydney in Australia. Look. It’s
sunny everyday!” ¥ K = —DBEBIRK FTH % R

¥ %(Model), ...7%H8...

Japan?” “Now, let’s keep going down
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“Look, there are two boys. They are American.
They get-up at 7:00 o’clock every morning.
(BFst2fa2 L 2 435) What
[ 6:00]
“A-kun get up at 6 o’clock. (Expansion) Very
good. Then, they have a breakfast. What do

How about you?

time do you get up every day, A-kun?”

they eat? Do they eat rice? Or bread?” [/¥>/]
“That’s right. They put peanuts butter on bread
(A L#HIZE 5).” (Expansion)
“Well, they finished eating. Let’s go to school.
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“What’s the weather like in Toronto?” [snow]
“That’s right. It’s snowing and 0°C. A-kun,
you only wear T-shirts and jeans now. Is it O.K?
Do you go to Canada with only T-shirts and
[(HEIES)]
We have coats, sweaters, gloves, mufflers
here.” (Example) & 5> T. » 5 U HHIR DR
CHABLTHhREHCE Db LRERT A T A4
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jeans?” “Then, take something.
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HAETH B,

“Look at Japan. In spring he wears a jacket.

And what does he have in his hand?”

o

¥

[umbrel-
la] “Good. He has an umbrella with him.”
(Expansion) “How about in summer? What does
he wear?” [T-shirts] “Right. And?” [sunglass]
“Yes. What does he have in his hand?” [uch-
“Good. And he also has umbrella..... In

[coat, muffler]

iwa!?]
winter what does she wear?”
“Right. And gloves. Then, take a look at Guam.
[T-shirts and

“Yes. How about in summer?”

What does he wear in spring?”
sunglasses]

[T-shirts and sunglasses and umbrella] “Oh,
he has an umbrella. Then how about in autumn
[T-shirts and sunglasses] “Do
[No]

Mongol? In winter what does he wear?”

and winter?”
they have umbrellas?” “How about
[coat,
muffler, glove] “Yes. Look! It’s about minus
40 degrees! It’s very cold. But in summer it’s
very hot. Does anyone have an umbrella there?”

[No]
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APPENDIX 2. vy A>OXE (52 [HADKE])

W S 5 LRI

2. R TR VLHBR D
HdI LTS ES

%—0:%IH %, Come here. Point to a mark. (Interaction) That’s right.

[Mz#E+] It's rainy today. When it’s rainy, we can’t see the sun.
(Redundancy) & Wiz s KBOR%2E T, 0.K. How about tomorrow?
(Hv ¥ —%RB¥(Model), XROHOWMEFZT) Will it be sunny? Or
rainy? [...] It’s rainy everyday isn’t it? Rainy, rainy, rainy (Redun-
dancy) ... EMR~Y—27 %7 BAM> T (Example); Do you have
umbrella today? [Yes]. This is rainy season in Japan. How about in
another country? Let’s go down to the south. & SV 235 H 5 CHER
s> TH B HAMK 2 FIETTICRZ > Tw<{, Look at the weather in
Guam. 7’7 4 DEBRKTFH % B¥ 3 (Model), It’s rainy everyday. Mon-
day, Tuesday, Wednesday. Rainy, rainy, rainy...... (Redundancy) Is it the
same as Japan? [Yes] Now, let’s keep going down to the south. Sydney
in Australia. Look. It’s sunny everyday! ¥ F = —OBERK TRk RE 2
(Model),

wEELHY MERRIER Approach i X350 & D ¥ [ ] 3NEEORIG B &
RGBT 2501 | BIRICED LIS 7200 % £ 378 { (Model)s What's this?  [mountain, | /NEET B I1T5
¥ 57y ay  BEE | nikuman?] B2 CERERE IR TWL L, MMOKKOLLIELZ ICELTWL L, | BREOBHTH
LEEROZESITd 2 = | What's the weather like today? #& L TEBRIC 5 DOKLEL» S HDOKRE

3L mTET
3

Hulfkiz & > TXK
BT 05 &
ZAHhLEHTK
L35 & AN
HBHEKTHE
b,

also has umbrella..... In winter what does she wear? [coat, muffler]
Right. And gloves.

Then, take a look at Guam. What does he wear in spring? [T-shirts
and sunglasses] Yes. How about in summer? [T-shirts and sunglasses
and umbrella] Oh, he has an umbrella. Then how about in autumn and
winter? [T-shirts and sunglasses] Do they have umbrellas? [No] How
about Mongol? In winter what does he wear? [coat, muffler, glove]
Yes. Look! It’s about minus 40 degrees! It’s very cold. But in summer it’s

very hot. Does anyone have an umbrella there? [No]

ErIyr—A Please draw a box that has nine spaces. Hold your pencil (Redundancy) | 2 S &74&455
and draw a box like this. (Model) One space is big enough for the mark. | X v 7 2 2 #»
EEVRBL—DDAR—AWX—HMDOERR A — K 2i5) (Example), K& & | €5
2EDL 5LERAIE L VLHLEBENICHO»S® 5, If you finish, raise your
hand? (Interaction) Now, please put weather marks in the box. You can
put any mark in any place B REA —FEWARARE ZAABED 225
You put sunny here? It’s O.K. You put rainy here? All right. &> X 5
AL TWw L (Model), DFA >, #HDFA >, §ODTA VRE|ERBS,

If you get three like this, you can say “Bingo!”

HAROUFEORERH | HEAMKDO 7Y > b E— A4, KRV — N 2ERET, KSBER2RET

25 /HEEREOCTE | HboE, INEER DR ZAT OB -FHICBREY—FEEL, 4K

[EEED MEOF | botc s, RARERTENDBEDEHOEZ THT 5,

BT 2 1) It will be sunny in all area. Hokkaido, Kanto, Kansai, Kyushu, it’s
sunny. There is a strong wind from north.

2) It’s sunny in Tohoku area, but Tyugoku area is rainy because of a
big typhoon.

3) It will be sunny in the morning in Kanto area. But, the weather will
change easily. It will be cloudy in the afternoon.

4) It’s rainy in most area. It doesn’t stop for a long days.

HHROKR Y — 4Bk | Which city are you going to? Australia, Beijin, India? Pick up a card. /¥

FEOREDLSROMR | AR— b 2L T(Redundancy), HHALDEL NI H — K23 h¥ 5, A-

DRBEOFHH %% 2 % | kun? [Canada] Oh, I see. You want to go to Canada (Expansion) But,

(Redundancy) look. Canada is very cold. 33 %55BZ2 5L &% % 3%, What's the
weather like in Toronto? [snow] That’s right. It’s snowing and 0°C,

® HAERMNZHSE - | A-kun, you only wear T-shirts and jeans now. Is it O.K? Can you go to

EhLTn3 Canada with only T-shirts and jeans? [(%#%)] Then, take some-
@ BRI 13— | thing. We have coats, sweaters, gloves, mufflers here. (Example) What
ERTWZ « #2Z | would you wear? [coat] O.K. Put it on and go to Canada.
BH 5 OK, let’s play the game. LA\f& Model /R L 725 You get a card
® HEFIRIKEOZE | first. Look at the name of the city. Then, say to your group member,
LiZ K&  BEAKE | “What’s the weather like in Moscow?” Who are A-kun’s group? Raise
LRV R AT your hand. (Interaction) O.K. Look at the weather on Moscow and say,
“It’s sunny. It’s very cold.” A-kun will listen and think. Then, put on a
coat or items and go to Moscow within one minute. Now, let’s begin.
FBH -KED4 Y473 BREED B HS v
Look at Japan. In spring he wears a jacket. And what does he have in | S{#ROKED
his hand? [umbrella] Good. He has an umbrella with him. (Expansion) | % #3\» % ¥ 7ERY
How about in summer? What does he wear? [T-shirts] Right. And ? | C&To¥ 3 &
[sunglass] Yes. What does he have in his hand? [uchiwa!?] Good. He | 3123 3%




Cross-Cultural Understanding Lesson for Primary School
Students to Encourage
Their “Noticing” through English Language

Seiji Chida

Abstract

This paper is a report on the practice of cross-cultural understanding lessons in a community college
class. In 2002, “the Period of Integrated Study” was established in Japanese public primary schools. A
lot of schools started out with English activities as part of their international understanding education
program. While it is expected to be a good opportunity for children at the same time, there exists a
problem. The fact that the content of the curriculum has not been outlined leads to confusion amongst
the teachers. As a result, in most cases, the curriculum seems to end in a medley of transient songs and
games. There needs to be some reconsideration regarding the whole curriculum in the light of interna-
tional understanding.

An international understanding program was put into practice in a community college class at Ikuei
Junior College during the summer of 2002. The aim of the program was to provide the children with the
opportunity to notice the differences in mutual cultures. In this paper, the choice of topics, which
prompted the children to notice the difference in cultures, is dealt with. Also, teacher talk, which
encourages the children’s critical thinking, examination of curriculum contents and their responses to the

lesson, is examined.




